Khaldoun Al-Zoubi; Tomáš Kepka; Petr Němec Quasitrivial semimodules. II.

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 49 (2008), No. 1, 17--24

Persistent URL: http://dml.cz/dmlcz/142770

# Terms of use:

© Univerzita Karlova v Praze, 2008

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

# **Quasitrivial Semimodules II**

KHALDOUN AL-ZOUBI, TOMÁŠ KEPKA and PETR NĚMEC

Praha

Received 4th October 2007

The paper continues the investigation of semimodules. Main emphasis is laid on minimal (i.e., every proper subsemimodule has just one element) and congruence-simple semimodules.

### 1. Auxiliary results (A)

This paper is a continuation of [1] and we use the same notation. Let  ${}_{S}M$  be a (left) semimodule. For arbitrary elements  $x, w \in M$ , put  $((x : w)_{S,M} =)(x : w) =$  $= \{s \in S \mid sx = w\}$ . Similarly, if  $x \in M$  and  $A \subseteq M$ , put  $(x : A)_{l} = \{s \in S \mid sx \in A\}$ .

**1.1 Lemma.** (i)  $(x:w_1) + (x:w_2) \subseteq (x:w_1 + w_2)$ . (ii) If  $w_1 \neq w_2$  then  $(x:w_1) \cap (x:w_2) = \emptyset$ .

Proof. Obvious.

**1.2 Lemma.** Assume that 2w = w. Then: (i)  $(x:w) + (x:w) \subseteq (x:w)$ . (ii)  $(x:w) \cap (y:w) \subseteq (x + y:w)$ .

*Proof.* Easy to check.

*E-mail:* kl\_a\_r@yahoo.com *E-mail:* kepka@karlin.mff.cuni.cz *E-mail:* nemec@tf.czu.cz Π

Department of Algebra, MFF UK, Sokolovská 83, 186 75 Praha 8, Czech Republic Department of Mathematics, PřF UJEP, České mládeže 8, 400 96 Ústí nad Labem, Czech Republic

<sup>2000</sup> Mathematics Subject Classification. 16Y60.

Key words and phrases. Semiring, semimodule, quasitrivial, minimal, congruence-simple. Partially supported by the institutional grant MSM 0021620839 and by the Grant Agency of Czech Republic, grant GAČR-201/05/0002.

**1.3 Lemma.** Assume that 2w = w and  $(M \setminus \{w\}) + M \subseteq M \setminus \{w\}$ . Then: (i)  $(x : w) \cap (y : w) = (x + y : w)$ . (ii) (x : w) = (2x : w). (iii) If x + y = x then  $(x : w) \subseteq (y : w)$ .

*Proof.* Easy to check.

**1.4 Lemma.** If w is the absorbing element of M(+) then  $S + (x : w) \subseteq (x : w)$ .

Proof. Easy to check.

**1.5 Lemma.** (i)  $(sx:w) = \{r \in S \mid rs \in (x:w)\} = (s:(x:w))_l \text{ for every } s \in S.$ 

- (ii) If sw = w then  $s(x : w) \subseteq (x : w)$ .
- (iii) If Sw = w (i.e.,  $w \in P(SM)$ ) then 2w = w and  $((x:w) + (x:w)) \cup \cup S(x:w) \subseteq (x:w)$ .

*Proof.* Easy to check.

**1.6 Lemma.** If Sw = w and  $(x : w) \neq \emptyset$  then (x : w) is a subsemimodule of  ${}_{s}S$  (i.e., a left ideal of the semiring S).

Proof. See 1.5 (iii).

**1.7 Lemma.** Assume that Sw = w (i.e.,  $w \in P(_{S}M)$ ) and  $(x : w) \neq \emptyset$ . Then:

- (i) (x:w)y is a subsemimodule of  ${}_{s}M$  for every  $y \in M$ .
- (ii) If |(x:w)y| = 1 then  $(x:w)y \subseteq Q(sM)$ .
- (iii) If |(x:w)y| = 1 and |Q(sM)| = 1 (e.g., if sM is minimal and not quasitrivial) then  $(x:w) \subseteq (y:w)$ .

(iv) If sM is minimal, not quasitrivial, and if  $(x:w) \not\subseteq (y:w)$  then (x:w) y = M.

*Proof.* (i) By 1.6, (x:w) is a left ideal. Then, of course, N = (x:w)y is a subsemimodule of  ${}_{S}M$ .

- (ii)  $Ssy \subseteq S(x:w) y \subseteq (x:w) y$ , and hence |Ssy| = 1 for every  $s \in (x:w)$ . Then  $sy \in Q(sM)$ .
- (iii) Since |Q(sM)| = 1, we have  $Q(sM) = \{w\}$ . By (ii), (x:w)y = w, so that  $(x:w) \subseteq (y:w)$ .
- (iv) It follows from (iii) that  $|(x:w)y| \ge 2$ . Thus (x:w)y is a non-trivial subsemimodule of  ${}_{s}M$  and (x:w)y = M, since M is minimal.

**1.8 Lemma.** Assume that  ${}_{s}M$  is minimal, not quasitrivial, and that  $Q({}_{s}M) \neq \emptyset$ . Then:

- (i)  $P(_{S}M) = Q(_{S}M) = \{w\}$  for some  $w \in M$ .
- (ii) If  $x, y \in M$  and  $s \in S$  are such that  $sx = w \neq sy$  then for every  $z \in M$  there exists  $r \in S$  with rx = w and ry = z.

*Proof.* (i) We have |Q(sM)| = 1 and the rest is clear.

(ii) We have  $(x:w) y \not\subseteq (y:w)$  and 1.7(iv) applies.

 $\square$ 

Let  ${}_{s}M$  be a semimodule. For every  $w \in M$ , define a relation  $\eta_{w}$  on M by  $(x, y) \in \eta_{w}$  iff (x : w) = (y : w).

**2.1 Lemma.** (i)  $\eta_w$  is an equivalence. (ii) If  $(x, y) \in \eta_w$  then  $(sx, sy) \in \eta_w$  for every  $s \in S$ .

*Proof.* (i) This follows immediately from the definition of  $\eta_w$ .

(ii) By 1.5(i), (sx : w) = (sy : w).

**2.2 Lemma.** Assume that 2w = w and  $(M \setminus \{w\}) + M \subseteq M \setminus \{w\}$ . Then  $\eta_w$  is a congruence of the semimodule  ${}_{s}M$ .

*Proof.* By 2.1,  $\eta = \eta_w$  is an equivalence that is stable with respect to the scalar S-multiplication. By 1.3(i),  $(x, y) \in \eta$  implies  $(x + z : w) = (x : w) \cap (z : w) = (y : w) \cap (z : w) = (y + z : w)$  and  $(y + z, y + z) \in \eta$  for every  $z \in M$ . Thus  $\eta$  is a congruence.

**2.3 Lemma.** The following conditions are equivalent:

- (i)  $\eta_w = \mathrm{id}_M$ .
- (ii) For all  $x, y \in M$ ,  $x \neq y$ , there exists at least one  $s \in S$  such that either  $sx \neq sy = w$  or  $sy \neq sx = w$ .

*Proof.* The assertion follows easily from the definition of  $\eta_w$ .

2.4 Lemma. The following condition are equivalent:

- (i)  $\eta_w = M \times M$ .
- (ii) There is a subset I of S such that  $Ix = w \notin (S \setminus I) x$  for every  $x \in M$ .

*Proof.* The assertion follows easily from the definition of  $\eta_w$ .

**2.5 Lemma.** Assume that  $\eta_w = M \times M$  and put I = (w: w). Then:

- (i) (x:w) = I for every  $x \in M$ .
- (ii)  $I = (s:I)_l$  for every  $s \in S$ .
- (iii)  $rS \subseteq I$  for every  $r \in I$ .
- (iv)  $tS \subseteq S \setminus I$  for every  $t \in S \setminus I$ .
- (v) If 2w = w then  $I + I \subseteq I$ .
- (vi) If w is the absorbing element of M(+) then  $S + I \subseteq I$ .
- (vii) If Sw = w then I = S and  $SM = \{w\}$  (i.e., <sub>S</sub>M is cs-quasitrivial).

*Proof.* (i) This follows immediately from the definition of  $\eta_w$ .

- (ii) By (i) and 1.5 (i),  $I = (sw : w) = (s : (w : w))_l = (s : I)_l$ .
- (iii) and (iv). Use (ii).
- (v) See 1.2 (i).
- (vi) See 1.4.
- (vii) Obvious.

П

**2.6 Lemma.** Assume that  ${}_{s}M$  is congruence-simple and not cs-quasitrivial. If  $w \in M$  is such that Sw = w and  $(M \setminus \{w\}) + M \subseteq M \setminus \{w\}$  then  $\eta_w = \mathrm{id}_M$ .

*Proof.* By 2.2,  $\eta_w$  is a congruence of  ${}_{s}M$  and it follows from 2.5(vii) that  $\eta_w \neq M \times M$ . Since  ${}_{s}M$  is congruence-simple, we conclude that  $\eta_w = id_M$ .

**2.7 Lemma.** Let  $w \in M$  be such that 2w = w,  $(M \setminus \{w\}) + M \subseteq M \setminus \{w\}$  and  $\eta_w = id_M$ . Then:

- (i) If  $x, y \in M$  then x + y = x if and only if  $(x : w) \subseteq (y : w)$ .
- (ii) If Sw = w,  $x + y \neq x$  and  $(x : w) \neq \emptyset$  then (x : w) y is a subsemimodule of  ${}_{S}M$  and  $(x : w) y \neq \{w\}$ . If, moreover,  $(x : w) y \notin Q({}_{S}M)$  then  $|(x : w) y| \ge 2$ .

*Proof.* (i) If x + y = x then, with respect to 1.3(iii),  $(x : w) \subseteq (y : w)$ . Conversely, if  $(x : w) \subseteq (y : w)$  then  $(x : w) = (x : w) \cap (y : w) = (x + y : w)$  by 1.3(i), hence  $(x + y, x) \in \eta_w = \text{id}_M$  and x + y = x.

(ii) By 1.7(i), (x:w)y is a subsemimodule of  ${}_{S}M$ . Since  $(x:w) \notin (y:w)$  by (i), we get  $(x:w)y \neq \{w\}$ . Finally, if  $(x:w)y \notin Q({}_{S}M)$  then  $|(x:w)y| \ge 2$  by 1.7(ii).

**2.8 Lemma.** Assume that 2w = w and  $(M \setminus \{w\}) + M \subseteq M \setminus \{w\}$ . Then: (i)  $(2x, x) \in \eta_w$  for every  $x \in M$ .

(ii) If  $\eta_w = id_M$  then M(+) is idempotent.

Proof. See 1.3(ii).

#### 3. Minimal semimodules (A)

Π

Throughout this section, let  ${}_{s}M$  be a minimal semimodule that is not quasitrivial (cf. [1, 4.1]) and such that  $Q({}_{s}M) \neq \emptyset$  (i.e.,  ${}_{s}M$  is not strictly minimal).

**3.1 Lemma.**  $Q(_{S}M) = P(_{S}M) = \{w\}$  for some  $w \in M$  and Sw = w.

*Proof.*  $Q(_{S}M)$  is a proper subsemimodule of  $_{S}M$  and the rest is clear.

**3.2 Lemma.** If w = M + x for at least one  $x \in M$ ,  $x \neq w$ , then  $w \in M + y$  for every  $y \in M$ .

*Proof.* We have w = x + u for some  $u \in M$ . Since  $x \neq w$ , we also have Sx = M, and hence y = sx for some  $s \in S$ . Now, w = sw = sx + su = y + su.

**3.3 Lemma.** (i)  $\varrho = ((M + w) \times (M + w)) \cup \operatorname{id}_M$  is a congruence of  ${}_SM$ . (ii) If  $\varrho = id_M$  then M + w = w and w is the absorbing element of M(+). (iii) If  $\varrho = M \times M$  then M + w = M and w is the neutral element of M(+).

Proof. It is easy.

**3.4 Corollary.** If  ${}_{s}M$  is congruence-simple then w is either absorbing or neutral in M(+).

**3.5 Lemma.** Either M(+) is idempotent or w is the only idempotent element of M(+).

*Proof.* The set of idempotent element of M(+) is a subsemimodule of  ${}_{S}M$ .

**3.6 Lemma.** Assume that M(+) is idempotent. Then just one of the following two cases holds:

(1) w is the absorbing element of M(+).

(2)  $M \setminus \{w\}$  is an ideal of M(+).

*Proof.* If (2) is not true then  $w \in M + x$  for at least one  $x \in M \setminus \{w\}$ . Now, by 3.2, for every  $y \in M$  there is  $u \in M$  with w = y + u and we get w = y + u = 2y + u = y + w. Thus (1) is satisfied.

**3.7 Lemma.**  $\eta_w \neq M \times M$ .

Proof. Use 2.5(vii).

**3.8 Corollary.** If  ${}_{s}M$  is congruence-simple then and  $M \setminus \{w\}$  is an ideal of M(+) then  $\eta_{w} = \operatorname{id}_{M}$ .

**3.9 Lemma.** Assume that w = 0 is neutral in M(+). Then just one of the following two cases holds:

(1)  $_{s}M$  is a module (i.e., M(+) is a group).

(2)  $M \setminus \{w\}$  is an ideal of M(+).

*Proof.* Put  $N = \{x \in M \mid 0 \in M + x\}$  (i.e., N is the set of invertible elements of M(+)). One checks readily that N is a submodule of <sub>S</sub>M. If N = M then M is a module and if N = 0 then (2) is true.

**3.10 Lemma.** Assume that  $M \setminus \{w\}$  is an ideal of M(+) and  $\eta_w = \operatorname{id}_M$  (see 3.6, 3.8 and 3.9). Then M(+) is idempotent and if  $x, y \in M$  are such that  $x + y \neq x$  then (x : w)y = M.

*Proof.* Use 2.8, 2.7(ii) and the minimality of  $_{S}M$ .

**3.11 Lemma.** Assume that  ${}_{s}M$  is congruence-simple, not a module, and that w is not absorbing in M(+). Then:

- (ii) w = 0 is neutral in M(+).
- (iii)  $M \setminus \{0\}$  is an ideal of M(+).
- (iv) M(+) is idempotent.
- (v) If  $x, y \in M$  are such that  $x + y \neq x$  then for every  $z \in M$  there is  $s \in S$  with sx = 0 and sy = z.

*Proof.* (i) Use 3.4, 3.8, 3.9 and 3.10.

<sup>(</sup>i)  $\eta_w = \mathrm{id}_M$ .

**3.12 Lemma.** If  $o \in M$  is absorbing in M(+), w = 0 is neutral in M(+) and  $o \neq w$  then So = M and tM = 0 for at least one  $t \in S$ .

*Proof.* Since  ${}_{S}M$  is minimal and  $o \notin Q({}_{S}M) = \{w\}$ , we have So = M. Now, to = 0 for some  $t \in S$ , and hence tx = tx + 0 = tx + to = t(x + o) = to = 0 for every  $x \in M$ .

**3.13 Lemma.** ([2, 3.13]) Consider the situation from 3.11 and, moreover, assume that  $M = \{a_1, ..., a_m\}$  is finite. Then:

(i) M(+) contains an absorbing element o.

(ii) So = M and tM = 0 for at least one  $t \in S$ .

(iii) For all  $u, v \in M$  there exists at least one  $s \in S$  such that, for every  $x \in M$ , sx = 0 if x + u = u and sx = v if  $x + u \neq u$ .

*Proof.* (i) It suffices to put  $o = a_1 + \dots + a_m$ .

(ii) See 3.12.

(iii) If u = o then x + u = u for every  $x \in M$  and we put s = t (see (ii)). Hence, assume  $u \neq o = v$  and put  $L = \{x \in M \mid x + u \neq u\}$ . The set L is finite and non-empty, and (by 3.11 (v)) for every  $x \in L$  there is  $s_x \in S$  with  $s_x u = 0$  and  $s_x x = o$ . If  $s = \sum_{x \in L} s_x$  then sx = o for every  $x \in L$ . Moreover, su = 0 and if y + u = u then sy = sy + 0 = sy + su = s(y + u) = su = 0. Finally, if v is arbitrary then, by (ii), there is  $q \in S$  with v = qo. Now, if  $x + u \neq u$  then qsx = qo = v, and if y + u = u then qsy = q0 = 0.

**3.14 Lemma.** Assume that M is finite and w = o is absorbing in M(+). Then tM = o for at least one  $t \in S$ .

*Proof.* If  $x \in M$ ,  $x \neq o$ , then Sx = M, and hence  $t_x x = o$  for some  $t_x \in S$ . Put  $t = \sum_{x \in M} t_x$ . Then tM = o.

**3.15 Lemma.** Assume that M is finite, congruence-simple and not a module. Then tM = w for at least one  $t \in S$ .

*Proof.* Combine 3.4, 3.11, 3.13 and 3.14.

4. Minimal semimodules (B)

**4.1 Lemma.** Let  $_{S}M$  be a semimodule. Define a mapping  $\varphi : S \to \text{End}(M(+))$  by  $\varphi(s)(x) = sx$  for all  $s \in S$  and  $x \in M$ . Then:

- (i)  $\varphi$  is a homomorphism of semirings.
- (ii) ker  $(\varphi)$  is a congruence of the semiring S.
- (iii) ker  $(\varphi) = S \times S$  if and only if the semimodule <sub>S</sub>M is quasitrivial.
- (iv)  $\ker(\varphi) = \operatorname{id}_{S} \text{ if and only if for all } r, s \in S, r \neq s, \text{ there exists at least one} x \in M \text{ with } rx \neq sx.$

- (v) If the semiring S is congruence-simple and the semimodule  ${}_{s}M$  is not quasitrivial then  $\varphi$  is an injective homomorphism.
- (vi) If  $s \in S$  then  $\varphi(s)$  is a constant endomorphism of M(+) if and only if |sM| = 1.

Proof. Easy to check directly.

For a semimodule  ${}_{s}M$ , put Ann $({}_{s}M) = \{s \in S \mid |sM| = 1\}$ .

**4.2 Lemma.** Put  $A = Ann(_{S}M)$ . Then:

- (i) Either  $A = \emptyset$  or A is an ideal of the semiring S (i.e.,  $(A + A) \cup SA \cup \cup AS \subseteq A$ ).
- (ii) For every  $s \in A$  there is  $w_s \in M$  with  $sM = w_s$ .
- (iii)  $w_{r+s} = w_r + w_s$  for all  $r, s \in A$ .
- (iv)  $w_{ts} = tw_s$  and  $w_{st} = w_s$  for all  $s \in A$  and  $t \in S$ .
- (v) If  $A \neq \emptyset$  then  $AM = \{w_s | s \in A\}$  is a subsemimodule of  ${}_{S}M$ .
- (vi) sx = stx for all  $s \in A$ ,  $t \in S$  and  $x \in M$ .
- (vii) If  $s \in A$  and  $q \in S$  are such that  $qw_s = w_s$  then sx = qsx for every  $x \in M$ .
- (viii) If  $s \in A$  is such that  $Sw_s = w_s$  then  $AM = \{w_s\}$  (i.e.,  $w_r = w_s$  for every  $r \in A$ ).
- (ix) If  $s \in A$  is such that  $w_s = 0_M$  is neutral in M(+) then tx = (s + t)x for every  $t \in S$  and  $x \in M$ .
- (x) If  $s \in A$  is such that  $w_s = o_M$  is absorbing in M(+) then  $o_M = sx = (s + t)x$  for every  $t \in S$  and  $x \in M$ .

Proof. Easy to check directly.

**4.3 Lemma.** Assume that ker  $(\varphi) = id_s$  (e.g., S congruence-simple and <sub>s</sub>M not quasitrivial). Then:

- (i) Every element from  $A = Ann(_{S}M)$  is left multiplicitvely absorbing in S.
- (ii) If  $s \in A$  and  $t \in S$  are such that  $tw_s = w_s$  when ts = s.
- (iii) If  $s \in A$  is such that  $Sw_s = w_s$  then s is multiplicatively absorbing in S and  $A = \{s\}$ .
- (iv) If  $s \in A$  is such that  $w_s$  is neutral in M(+) then s is additively neutral in S.
- (v) If  $s \in A$  is such that  $w_s$  is absorbing in M(+) then s is additively absorbing in S.

*Proof.* Use 4.1 and 4.2(vi), (vii), (viii), (ix) and (x).

**4.4 Proposition.** Assume that S is a congruence-simple semiring and  ${}_{S}M$  is a finite non-quasitrivial minimal congruence-simple semimodule with  $Q({}_{S}M) \neq \emptyset$ . Then:

- (i)  $Q(_{S}M) = P(_{S}M) = \{w\}$  for some  $w \in M$  and Sw = w.
- (ii) Either  $w = 0_M$  is neutral in M(+) or  $w = o_M$  is absorbing in M(+).
- (iii) If  $w = 0_M$  is neutral in M(+) then S contains an additively neutral and multiplicatively absorbing element  $0_S$  and  $0_S M = 0_M$ .

(iv) If  $w = o_M$  is absorbing in M(+) then S contains a bi-absorbing element  $o_S$  and  $o_S M = o_M$ .

*Proof.* (i) See 3.1.

- (ii) See 3.4.
- (iii) We have ker  $(\varphi) = id_s$  by 4.1(v). Furthermore,  $A = Ann(_sM) \neq \emptyset$  by 3.13(ii). Now, by 4.3(iii) and 4.3(iv), we have  $A = \{0_s\}$ , where  $0_s$  is additively neutral and multiplicatively absorbing.
- (iv) Again, ker  $(\varphi) = id_s$ . Furthermore,  $A \neq \emptyset$  by 3.14 and, by 4.3(iii) and 4.3(v), we have  $A = \{o_s\}$ , where  $o_s$  is bi-absorbing.

**4.5 Lemma.** Let <sub>s</sub>M be a semimodule such that M = Sx for some  $x \in M$ . Then:

- (i) If S has a left multiplicatively absorbing element then  $Ann(_{S}M) \neq \emptyset$ .
- (ii) If S has a right multiplicatively absorbing element then  $P(_{S}M) \neq \emptyset$ .
- (iii) If S has the additively neutral element then M(+) has the neutral element.
- (iv) If S has the additively absorbing element then M(+) has the absorbing element.

*Proof.* The mapping  $s \mapsto sx$  is a homomorphism of  ${}_{s}S$  onto  ${}_{s}M$ .

### References

- [1] AL ZOUBI, K., KEPKA, T. AND NĚMEC, P.: Quasitrivial semimodules I (preprint).
- [2] ZUMBRÄGEL, J.: Classification of finite congruence-simple semirings with zero (preprint).